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while S1.empty() == False:
T.push(S1.pop())

while T.empty() == False:

S2.Push(T.pop()) P
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Create an empty stack T.
For ch in S:
if ch is one of (,[{:
T.push(ch)
else if ch in one of )]}:
if Tempty == True:
return False
if T.pop() doesn’t match ch:
return False
If T.empty == False:
return False

Return True
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Create an empty stack T.
For ch in S:
if ch is one of (,L{:
T.push(ch)
else if ch in one of )]}:
if Tempty == True: ——» 0'mnng 1wuRn 0110 010 10 @ Ol 2121
return False
if T.pop() doesn’t match ch:
return False
If Tempty == False: ———» 0110 1UxRN OIS 070 10 @ 0wl 2121
return False

Return True
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if s2.empty == False:
return s2.pop()
Else If s1.empty == False:
while s1.empty == False:
s2.push(s1.pop))
return s2.pop()

Else:

Return “empty”
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For input -> 353342 1014 19 27 44 26 31

Min-Heap — Where the value of the root node is less than or equal to either Max-Heap — Where the value of the root node is greater than or equal to
of its children. either of its children.
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Push (x):

Alend++] = x;

i =end;

while i>1 and A[i]>A[Parent(i)]
k = Parent(i);
switch(A[i],A[k]);
=k
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Push(x,0)
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push(13.0)
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push(13,0)
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O(log(n))
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x = Pop():

if end==0
error(empty)

else
x=A[1];
A[1]=Alend];
end--;
Heapify(1);
return x;

Heapify(i): (yy nna 1700 MDD 7V anw)

I = Left(i);

r = Right(i);

if ISheap-size and A[l] >A[i]
max =1;

if r<heap-size and A[r] >A[max]
max =r;

ifmax #i
switch( Ali],Almax])
Heapify(max);
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Pop(Q)




gmropn/omrn 710 Nrinld
ANATT 1T 1D 1

Pop(Q)
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Pop(Q)
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Pop(Q)
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H- heap of pairs of values and indexes
L= array —size m*k
h=i2...=ik=0
s=0
For r=1 to k
H.push(L[ir],|)
While H.isEmpty == False:
(a,i) = H.pop()
L[s] = a
s++
i ++
if ii<m:
H.push(Lifiil,i)
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H- heap of pairs of values and indexes
L= array —size m*k

h=i2...=ik=0

s=0

For r=1 to k
HpUSh(Lr[Ir],|) —_— Ok log k)

While H.isEmpty == False:
(ai) = H.pop()
L[s] = a
s++
i ++
if ii<m:

> O(kmlog k)

H.push(Li[ii],i)



